wWPMI

SSVW

(FRBYER = SSV)

VBV 4-JxK HF3L
_|
P
M6x1

E B | = ® EAREESE (Kgf) 2 E R 9
# & = I ERSH - — -
g 5 B 3] EJl|=lET =l il ZHRH

i i X (1x10°REV.) RE | EE  BE EE

d ! C. Co L W H T A B
1114 | 4 2.381 3.5x1 500 1110 35 | 34 | 13 | 25 | 22 26
2 | 14 | 5 3.175 2.5x1 515 990 35 | 34 | 13 | 25 | 22 26
3116 5 3.175 2.5x1 590 1210 35 | 42 | 16 | 289 22 32
4 120 5 3.175 2 5x1 625 1450 35 | 48 | 17 | 315 22 35
5 | 20 | 10 | 4.762 2.5x1 1100 2220 58 | 48 | 18 | 36 | 35 35
6 | 25 | 5 3.175 2.5x1 720 1850 35 | 60 | 20 |385| 22 40
7 | 25 | 10 | 6.350 2.5x2 3240 7170 94 | 60 | 23 | 42 | 60 40
8 | 32 | 10 | 6.350 2 5x1 1930 4680 64 | 70 | 26 | 51 | 45 50
9 | 32 | 10 | 6.350 2.5x2 3130 9410 94 | 70 | 26 | 51 | 60 50

BI34]: R 25-5-B1-SSVW-650-800-0.05

000 O (5] e o0 (8]

Q IER5E : RAGHE, LATR(ZZHeEER » EELE)

@D IFIFEE(mm)

@ EFE(mm)

O IFIFEIREE (BxI!) :B1:2.5x1, B2:2.5x2, C1:3.5x1

@ IFIER : SSVW

@O IFRE (mm)

@ IFFE=R(mm)

O RBESMR : C7(€300:0.05mm)

HAERTIRAERBESRCSMR (€ 300:0.018mm)
BERNEEEREANTH

wWPMI

L >
c ., A
(e Ls
IR 4 .\
7 f‘i 77777777777777 : B ;c ;6 77777 4\_\7 - m
| | ‘\ ‘\
\‘ O | \ ) 7
il )
E
EEfiI(unit) : mm
IR E R IR F EH R T
B3, fam3l EEES
i IR IRIRRE EERER R iwsE
C| Jxk | E | F G U | Kgfium dr Ls
6.5 M4x7 | 6 2 6 18 15 SSVW1404-3.5P 12.00 500 1000 PS1404A
6.5 | M4x7 | 6 2 6 18 11 SSVW1405-2.5P 11.42 500 1000 PS1405A
6.5 | M5x8 | 6 2 8 21 13 SSVW1605-2.5P 13.42 500 1000 1500 PS1605A
6.5 M6x10| 6 3 915 | 22 15 SSVW2005-2.5P 17.42 500 1000 1500 PS2005A
11.5 |M6x10| 10 2 9.5 25 16 SSVW2010-2.5P 16.23 500 1000 1500 PS2010A
6.5 M8x12| 7 5 9.5 25 18 SSVW2505-2.5P 22.42 1000 2000 2500, PS2505A
17 |M8x12, 10 - 10 30 40 SSVW2510-5.0P 20.05 1000 2000 2500, PS2510A
9.5 M8x12| 10 - 12 36 25 SSVW3210-2.5P 27.05 1000 2000 2500, PS3210A
17 |M8x12| 10 - 12 36 49 SSVW3210-5.0P 27.05 1000 2000 2500, PS3210A




	商運型錄-藍-P48-49

